[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
>‘0.16_—
(&)
$0.14
O
£0.12
0.1
0.08
0.06
0.04
0.02

o 10
= <+
= 1
<+
[add +.T
1. o8 i o R B A (7 % EPEEE [EEPR
£ 0 0 Y

T T T T T T [ TT T [ TT T[T [T 7T T TTT[7

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_TT _original

Efficienq —— pom_TT_newscore

~ 0.1
20.09
o
>0.08
>
2
.90.07
o
£0.06
()
0.05]
0.04
0.03
0.02

Losf------ |
£ L

G20 -10 0 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
)
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02

0.0

._.
I
4
¥
i
T
Al

05215 210 5 0

10 15 20
Sim. PV z (cm)



	Contents
	Page 1


